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Q). Usin[? section AD

b). Usirg section DBC
C) . Dothe answeys Akove Ajma?
SD/n:

Solve for reactions at first :

1 2 Moo= RalIft) +M =0
> M- Ra | £t
T -63 ftbf

*)

V= =63 Ibf =0

M=-63 ftbf

=Fy=0 = |0-~Tp+Rey=0

> To= b - 10b4
=0

=>

= ~6.6 ft.op

V=63 b
M =46 ftlof
T=0

a"‘(-xl

) SMb=0> Rey (3fe)- Rex (2ft) =M= D
M= =Rex (2P ) &+ Rey (2f)
= 63 (#) = (0ft)
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N. Find then tension , sheay andl beno(j/% merert b). Using ec o 1bf o Gnt. .
at D Negleat gravity. 7 Rex Ify=0 > T=W=~8.44T (30ft-v) [bf
4 10 bf — SFx20 y(\/):o 1t
2t
- M ] | AEMyz0> M(Y)=0
2 Y » MIY)=0 _ VIY)=0 T)=-844m(30ft-¥) F£
' l F—>ft =t
A I T 3. W=/(o Ibf , L=/mile . What's the Ihtest
‘ =ZFx=0 = fRex ~V =0 wire #’a/\‘ will olo f/‘ljob 2
l| 2Pt 1 2fe = v=TRex= 43 I

. The answers above

AGREE !

io Ibf fRCY
F.BD -
ot
R -
ZFx=0 > RA+Bcx=0
>  Ra ="Rex
SF =0 = “Rey= (o lbf
O SMe=0 > R (3P0~ /0(sft)=0
= Ra= b3 b
Rex =764 bt
a). 051‘15{ Séction AD T M
N Y
ot , 1t F.B.D
— " At
R
SFx=0=>  [="Raz63 Iht
=Fy=0 2> T=0 e

2. The telephone pole 1s Shown
=460 1bm per cadic funt
- Findd the tension, Sheay anol
bmob‘/v menant- &4 A function
Salmﬂf1 v
fet's OQut aa‘;/, tabe the upper
cut . ovaw te FB.D of it»

e

Ws S8V = S8A (3oft-y)
=83 (—_,19— in Y(30ft-v)

= 844 W (30Pt-v) )bh.
ft

30 Pt
\/l —
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T
soft-y

= ST 02 (0fey) v
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v T

T
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z 7((6() %)%»)(%){»tz(%ftﬁ' !

[ = 500 Ibm/ft3, O},= 100,000 1bf /r2*)

14127 ~8.D
TlY)
)
Inile
I I
Sony fo 'bf
7o do the job, O(y) = 0%  o<y<imile
Do) = TU) (Acw,,,é,,ﬁ to the D/efim‘ ton
AlY)
of ©)
We neeol to findl IA(yg) = &% = 100,000 15ffint
ty

. According to the FBD. Of' e Jowey Qut |

- W) s the total we@lv.t 0f the wire §oes

Tomo to Y.
W=7 $sArs ds Al > 1;%
=997 Als)ds S foo mack
mglevial.

=H=0 = :
TIV) = 10kt wiy)

6v) = LU wiy) =
AtY) -

1f avi< %

[

« O0)= O* = 100,000 Jbf /in> for the lghest
Slobigg [] Als) ds = T= T Aly) = 10" A7)
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Cong 3. Cont. 40,
d 4. Diow Vand M da‘a@wms fov these beams °5ruold Section IaC cwtata.nd point betwesn
"’L{fo b+ 89/J Alsrds]= -7()* AY)) , . B¥C, Yahe vight part” and draw thaF8
dAlY) a) AI 8 leoolb? :
Y)= 6%
Jssao=ot Sy, 2 ot } ot
i(\/) Ce 0¥ | ot s O e | p—
e Finding ¢ X | I15ft-x
5 T(o) I }e—-
T - 5% Tlo)="10 164 Soln~
Alo) o #{ * Solve for redctions : B SFW=o0 = TK=0
> I <o¥ h8.D CEZFY)=0 = v(x)= 100 [bf
c e {100 1bf s Mi=0 > MO+ (00 6Pt =0
> o= 10 = 10 16f =] S MIx)=-100(15-X) Ibf ft{o << <154)
o ot 112»/ f Rey
plugging it back lﬂ'ﬁ) Aly): Vix)= 100 Iof
Tlo) SFX)=0 > Rax=0 Mx)==[00 (I5ft-X) 1bf 16 <x<s |5£X
AY)= etor d) s FIY)=0 = Raytley= loo I1bP
') s Ma=0=
. F.mbﬁz e tota] weight Rey([0F+) = /oo Ibf (I5F+) =0 « Drow the dh‘aﬁmm
= Rey= 150 )&t
Ina v loQ
W;J ty) ol GJ 94, (Jbf ‘
§4 AO:) / -gig e ( J Rax=0. Ray=~50 bt . Rey= 150 wf. ) x '
(S\& oX 88 ) » . thdd section AR . cut ab % om,f betwean A B' Cll x
= Tlo)e(%f’)}sa& s Ar B and taks the left h : ] | I
Q LSO“ ’
* Fing %}g )5@&0 ——1@:] Tlx ‘ I
DAY
S - bm  LbE ¢ Vix)
o Yo = B0 G oo e
lo® _jbf ) — X
(g ft)2 SFY=0 > ViIx)= Ray= - 50 hf
= _bpox580 bm- Ibf ft-ft? = Fxz0 = TMKX)=-Rax=0
105 % 32 ft3 | bm I bf
= 01§ (G 2Mix=0=> Ray(X) - Mx)=0
S . Mix)s Rayix)
There’s no wnit foit, = - 50x |bf
s Ao)z Tlo) /O* :._I‘Q.iéb’g* = 00144 $t2 ‘ 4b: S= 500 Ihm H‘ts :ndudw\a Jrow: ty
fos (:_% Voo = - 50 ibf dvom the. shar and  moment oiagram.
> doy= 0024t Smilary: " T dumib)=0i3 P T0=0 )
Foy squave Cros$ M= - 50X | bf 1 Y
¢ Pack tn thk total wefy hrea, )" sguare
W= Tl e@ly) | 2Pf .‘ spé / - cwss
=10 1sf (- =[197
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Cont. 4b. W&\y’ﬁ pexy W/&JM
¢ Tahe the whole beam as om. part .cut a%an(\f Cont  4b). / m
pointk  between O <x< 5PL. 11 ‘\
take. e ief sike and..chan. o £5.D Vi)
1o
, ll )Mw | y
0 5f
| [x) W’"
| L) |
3 Fyzo > VIX)= - WIX)
Y = Mu=0=> M+ WIX)E =0 | i) ,
:_) -
M‘X) YW‘)() !
o |
* Fnging WIX) ' ‘i
W)= 98 VIK) = SYALK) R
= 8J3AX :
8= 500 1bm /Pe3. 8= | b
| 1dm
43385 — — — — —
A:(,,“)‘H:>&: TJ‘T‘/\LQ
=
= } ) o,
wix) 600('7?:;) w ,44 YPVE A
- 35X
£
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